LONG MULTIPLICATION

3-DIGIT BY 1-DIGIT (WITHOUT REGROUPING)
WORKSHEET - 7

294 830 552 346

x5 X 6 x 8 x 4

20 0 16 24

+ 450 + 180 + 400 + 160
+ 1000 + 4800 + 4000 + 1200
= 1470 = 4980 = 4416 = 1384
785 592 326 408

x 6 x 7 x5 x 7

30 14 30 56

+ 480 + 630 + 100 + 0
+ 4200 + 3500 + 1500 + 2800
= 4710 = 4144 = 1630 = 2856
666 276 484 582

x 4 x 3 x5 x9

24 18 20 18

+ 240 + 210 + 400 + 720
+ 2400 + 600 + 2000 + 4500
= 2664 = 828 = 2420 = 5238
114 739 671 988

x9 X 6 x 8 x5

36 54 8 40

+ 90 + 180 + 560 + 400
+ 900 + 4200 + 4800 + 4500
= 1026 = 4434 = 5368 = 4940
386 263 208 622

x7 x 8 x 3 x 4

42 24 24 8

+ 560 + 480 + 0 + 80
+ 2100 + 1600 + 600 + 2400
= 2702 = 2104 = 624 = 2488
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